Math 124, Autumn 2018 Final Exam Answers
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2tanx-se02x+28inx—-c§sx
1. (a /x = 24-sin“ x
( )f( ) tan2x+ln(2+sin2x)
(b)g/(x):cos<x;_ )+X'Sin(x:_ )'(7__3)
X I P

(c)h’(t):(H—l)\/E-( Vi +1n(t+1)>

t+1 24/t
2. (@) — (b)—2 (c)DNE

do 5 i .
3. 7 =06 radians/minute

4. The dog should run 14.583333 meters and swim the rest.
5. (a) (£v/56,++/56) or (42.736,+2.736)
(b)y—3=-5/6(x—2) (c)2.917
6. @)y—4=—Jxandy—4=1x
(b) g'(1) = —14
7. @x=—2andx=2 (b)y=1
(c) increasing on (—eo,0) and decreasing on (0, )
(d) concave up on (—oo, —2) and (2,0). concave down on (—2,2).

(e) x = 0 is the only critical value. it is a local me izer
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